TNReady Review Packet

KEY
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Instructions: Complete each question and show all work. You may use a calculator only on the calculator section. This
will be worth an 0.5 grade. | will select 10 RANDOM problems to grade. 7

Graph each equation.
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Find the slope of the line between the t\)vb points or from the table. Simplify if possible. ez p
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Write an equation in slope-interéept form. (y= mx + b,
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10) Laura got a new puppy, which
grew the same number of pounds
per year. The puppy was originally
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9 pound. After 3 years, itwas 15 3 Yem- wnl pwml s

pounds. Write an equation that
gives the weight y of the dog x

years after she bought it.
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Say whether each is: A) Not a function; B) A function but nonlinear; C) A function and linear

i) X y 12) [x y ' B3 x |y Need to remember 2
2| 3 3 8 ﬁ 22 different rules — what
u-\< )oq 40 e 24
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14) Draw six points on the graph that , reate two equations that would be nonlinear.
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@Write each letter in the correct box, according to whether it is rational or irrational.

Rational | Irrational | a: Eechon. w/ whele #s =RAT T
& B:0.3187 Torminsting decimal » AT
& | 0T Roping dec=RAT - -
D:0.121212... Repestiny dec, 2RAT~ ~ =
E: 5.183597 ... Not- ferminating or repeshing = R
V16 =Y RAT :
G:vZ7 Noi-exowt oot = [R
H:Y27 =3 RAT
stimate the value of v58. Do not use a calculator, Explain your reasoning in words.
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olve: x2 = 64. Find all possible solutions. 20) 19) Solve: x2 = —121. Find all possible solutions:
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Solve each system of equatlons
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a

‘-}14-2(2)(1-:57 230
Uy +Ux+6 =30

Simplify.

(7ab6 2 Tab%7ab®

“H“zbm E abb H;.b»b)o
T

oA b Ob-b'b'b'b)

equation. (2 of them are “weird” ones — no solution or infinite solutions)
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Tnfinite solutins
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27) (Graphing) {y B —%x-l— 3
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ifme2 = 55°, whatis mz5? 55" (cvvmr'ﬂf‘mj—’ Same)
If me6 = 1099, what is m<£4? ’Il (Sume-.ch it = Suff’ )

If me5 = 68°, what ismz1? @R (12°
What type of special angle pair are £5 and £7? \/zri-im‘
What type of special angle pair are 21 and £6? Conesp i"]
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@md the perimeter of the tnangle
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38) Find the area of the triangle.
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39) Find the distance between the points (4, 7) and (8, -5).
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